P el

- The SQL statement to provide delete’ and insert privileges to user ‘'Omar’ on ‘Departine
table is:

Select one:
() Grant delete, insert on Omar to Department; 5

{1
'y T

i () Grant delete, insert on Department to Omar;

Qi |
S O Grant Omar with delete, insert on Department;

5 Grant delete, insert to Omar on Department; = o
i ROWGROLU |
LT | : [k s i . .




instructor where dependent_ic = Null
ame from instructor where dependent _id is not Null
me rom instructor where dependent_id is Nul
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The statement

“transfer of funds from one account to another should either complete or not happen at all”

refers to:

Data

edundc

introduction to datc

Data atomicity
Data incon

Data tre
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Question 20 After mapping the following ERD, then the suitable schema for table Invertebrates is . . . @ . @

Not yet

answered amountPerDay
Marked out of

2.00 @ Animal -

¥ Flag Disjoint 0

question
/ Foad
Vertebrates Invertebrates
‘m Finish attempt ...
vertrebral ength

O (AID, AName, weight)

= ©

O (AID)

™

 (AID, AName, weight, locations)

9:00 PM
w = ol O 1/11/2021
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My courses introduction to database systems | el aua
n24 emp_sup
ed Person Supervisor
1 out of Susan null
Bob Alice
:_J. » »
ion Alice David
David Mary
Mary Susan

Based on the above table, what is the output of the following SQL sta:

select * from eMp_sup as el natural right outer join emp_sup as e2;

Person Supervisor

Susan null

Bob Alice
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My courses introduction to database systems | el aua
n24 emp_sup
ed Person Supervisor
1 out of Susan null
Bob Alice
:_J. » »
ion Alice David
David Mary
Mary Susan

Based on the above table, what is the output of the following SQL sta:

select * from eMp_sup as el natural right outer join emp_sup as e2;

Person Supervisor

Susan null

Bob Alice
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candidate keys the following table has?

Job District

Cleaning Crimson
Gardening | Pink
Sally Dog walking = Pink
Gardening Pink
' Sa“'y Cleanmg Scariet

There are no candidate keys
Two candidate keys
Three candidate keys

One candidate key
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TWO Tables (Products and Parts),

Parts Table

Number Colour art Weight

SELECT
FROM P:
GROUF

SELECT Toy,
Fm"‘ Produ gy e
.-Ew_lj

DN Products Pa; . (20 {t[]5
GROUP BY T \Y) w
SELECT

B FROM Product
ECROUP BY Toy,

TO}."MH#:{-‘] » wailgh
Products , Farte
- ‘y;
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When we define 'Domains’ in SQL, we can add constraints to the definition such as the check
constraint

True or False?

. Select one:
:-lﬁgun O True
| ) False

Qqqqqqq "3

Next page -



10 | Tom 1 20

31 | Jack 2 21 R
{11 [sam 3 23 |
112 | sally {1 4 |

34 |sarah |8 35

26 | Silvia s |36

Based on the above Employee table, HOW MANY rows will result from the following S
query:

select grade, min(age)

from employee

where age > 22

group by grade :
having min(age) >23

Select one:

FIVE rows NN, WHT

SIX rows

TWO rows
THREE rows

& FOUR rows
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Time left

When we define Types' in SQL, we can add constraints to the definition such as the Not Null
constraint

True or False?

Select one:

True

False




or normalizing the following table, which of the glven opﬂon pr

ormal Form ?
ID | Name ! Major @ Collage  Course_ID Instructar_lDf Instructor_
' Name .
|1 | Omar | Biology | Science | 1001 9001 John
\ 2001 9002 Kareem
13 |salem | cis KASIT | 3001 8001 Ahmad

(1D
(

(ID, Name, Major, College)
(Course ID, Instructor ID, Instructor Name)
(ID, Course ID)

ID, Name, Major, College)
Course ID, Instructor ID, Instructor _Name)

(ID, Name, Major, College)

(Course ID, Instructor ID, Instructor _Name)
(ID ,Course ID)

ID, Name, Major, College)

(ID
(Course ID, Instructor_|D, Instructor Name)
(Course ID,ID)
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Which of the following SQL statements does not repeat the common attributes:

Select * from Course natural join Prereq;
select * from Course, Prereq where Course.CID = Prereq.CID;

select * from Course inner join Prereq on Course.CID = Prereq.CID;

select * from Course cross joinPrereq on Course.CID = Prereq.CID,;

Clear my choice
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-
Uncontrolled concurrent accesses by multiple users can lead to:

O Data Inconsistencies

, @ Data transparency
| O Data redundancy

O Data atomicity

Clear my choice
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Based on the Two Tables, how many Null values the given query

proguct wwrobard - g
~ | Marked out of whee!
' .. 200 axi
: ¢ Flag
i question
Select *

from order:



ED [Neme — [Deparmamt |

| 001 | Ahmad cs

| 002 All Icls
003

Sameh Cle
{ Periog 004 Salen
i | question _EEE_ -

HuCa

| 006 Al

Based on the above table,
the following SQL statement

Select department, count
from employee
group by Departme

orcder by Name







hat yet

. Marioed out ol

¥ (Flog
| Questicn

Based on the emp

| Tirme 1 o, i 1
schema structure below, which of the followirig SaL quéries wil get daportrrd | o 048
ane employea 7

emp(Name varchar(20),
ID char(5) ,
Dep_name varchar(20)
Salary numeric(8.2));

Salecl one
Select dep_name, count(ID)
from emp
group by dep name
;.F{'-.".!'-".'J count{lD) =1

-
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For the many-to-many case, the relationship set must be represented as a separate relation
that cannot be combined with either participating entity.

True or False?
L

Select one:

® True

False
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ised on the above tables, how may records will be generated after executing
L statement: :

‘Select * from Student, Mall;

- © Srecords
© B records

8 records




answered
Markedoutof | Products Table Parts Table
3.00

¥ Flag Number Colour
| Question

= tentacle 15
alien body 1 alien body 75
tentacle 10 wheel 25
car body 1 car body 60
wheel funnel 20

4
wheel 6 head 40
1

funnel

SELECT Toy, SUM(Number * Weight) AS TotalWeight
FROM Products NATURAL JOIN Parts
GROUP BY TotalWeight;

SELECT Toy, SUM(Number * Weight) as TotalWeight
FROM Products INNER JOIN Parts
ON Products.Part = Parts.Part

GROUP BY Tov:
Weight) AS TotalWeight @ R@ H I Tg—.

] th

1]

e mw
o mom
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For the many-|
relation with et
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Question B Based on the following TWO Tables (Products and Parts), which SQL query find{ time |eft 0:34:56

f Not yet weight for each type of toy ? (s 1e | olmlhz]
answered
(’L} Marked out of Products Table Parts Table i —
Y ENENENE A
~ Toy Part Number Colour Part Weight e ———
D Wl s SRR R | SASSeaeaE S 19 |[20][21])[22][23][22
question
Alien head 2 green tentacle 15 I S ) SN SN ) N §
= Alien alien body 1 purple alien body 75 25
Alien tentacle 10 green wheel 25 |
M Car car body 1 blue car body 60 -
F h att t..
Car wheel 4 red funnel 20 IS atemp
Engine wheel 6 blue head 40
Engine funnel 1 red

() SELECT Toy, SUM(Number # Weight) AS TotalWeight
FROM Products.Parts
GROUP BY Toy;

(3 SELECT Toy, (Humber # Weight)AS TotalWeight
FROM Products.Parts
GROUFP BY Toy;

() SELECT Toy, SUM(Number * Weight) AS TotalWeight
FROM Products NATURAL JOIN Parts
GROUF BY TotalWeight;

T &27PM
1!; E\E III!III W il ENG i
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L IS used to hide certain data from some users

OB Transactio

Table

Integrity Constraint

View

Clear my choice
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Time left 03402 |

For the many-to-many case, the relationship set must be re

presented as a cormbined ralation with either
participating entity

True or Falea?

Salect one:

iTrae

® Foise
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5115
Question D Select the correct SQL statement to give Sana all permissions to access students table only
8 2 (|10

= ©

Not yet 7

answered C Grant all privileges on students to username = Sana;

=]
|

mMarked out of

&l

2.00 () Grant all privileges on students to Sang; 13 (|14 16 ([ 17 || 18
= FI I-"\I . —_— e e e e s
;ue:'t?on ) Grant all privileges on Sana to students; ) (B0 ) ) 53 (B

(& Grant all permissions on students to Sana; I ) NN ) SR ) S SN
25

Finish attempt ...

Next page
LY
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3in disadvantages of building database systems is that
8, money, skills, and time
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Based on the tables below, how many rows the following SQL stat

orders pricing

productJ{quantity J orderld | | product | price

| wheel 100 | 123 | | axle 10
| axle 10| 123 | | wheel 20
| wheel | 20| 999 | | screw

|l out | 30 | 444 | | bolt 5

nut ! 50 999 nut 3

Select product, sum{quantity)
from orders

group by product

having sum(quantity) > 80

Three rows
Two rows

Four rows

? One row
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Question 3 Based on the following authorization commands (ordered from 1to 4), which of the following
Mot yet privileges is true, assuming that Ali is the owner of the database? (s 1e | olmlhz]
answered
Marked out of Order | By Command _? _? _? _F _? _?
2.00 1 Ali Grant Select on Employee to Omar with grant option;
= ¥ Flag 2 Omar Grant Select on Employee to Samer with grant option; g ——————
question 3 Ali Grant Update on Employee to Omar with grant option; 191120 21| 22|23 ||24
M 4 | Ali Revoke Select on Employee From Omar Cascade; e
25
Select one: —
Ali has select privilege on employee Finish attempt ...

Omar and Ali have Update privilege on employee

0 Omar and Ali have Update privilege on employee
Omar, Samer and Ali have select privilege on employee

C Samer and Omar have select privilege on employee

Omar and Ali have Update privilege on employee

2 Ali and Omar have select privilege on employee
Ali and Omar have Update privilege on employee

Clear my choice

E ‘E\:‘ w il

8:21 PM
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Select product, sum(quantity)
from orders

group by product

having sum(quantity) >= 80




2 green

alien body 1 purple

Alien tentacle 10 green
Car car body 1 blue
Car wheel 4 red
Engine wheel 6 blue
Engine funnel 1 red

FROM Products .Parts
GROUP BY Toy:

FROM Products .Parts
GHOUP BY Toy:

8 SELECT Toy, SUM(Number. * Weight) as
" FROM Products INNER JOIN Parts
¥ j -

-_—

() SELECT Toy, oM {Number * Weight) AS TotalWelght

() SELECT Tay, (Nucber * Weight)AS TotalWelgit

TotalWedght

Parts Table
Part

tentacle
alien body 75
wheel 25
car body 60
funnel 20
head a0

MEROUNIT
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126 | Silvia

Based on the above Employee table, HOW MANY rows will result from the following SQL query:
select grade, min(age)

from employee

where age > 22

group by grade

having min(age) »23




After mapping the following ERD, then the suitable schema for table Verteb

amountPerDay
\ o
4 Animal -
Disjoint 0

ATAN E%f@

\ Vertebrates l| [ Invertebrates ‘

_.-——-—-{ // B
/*” \ ty PL /\
vertrebralength ) \\\hu ations e )

(AName, weight, vertrebralength)
(AID, vertrebraLength)
(AID)

r_ﬂ (AID, AName, weight, vertrebralength)

Clear my choice




ID char(5) ,
Dep_name varchar(20),
Salary numeric(8.2));

Select one:

Create







Command _

Grant Select on Employee to Omar with grant option;
Grant Select on Employee to Samer with grant option;
Grant Update on Employee to Omar with grant option;
Revoke Select on Employee From Omar Cascade;

sct privilege on employee

Ali have Update privilege on employee

ave Update privilege on employee




Time left 0:46:14 '_

ion § Select the correct SQL statement o Sana all permissions to access students table only

O Grant all privileges on stude
0 ) Grant all privilege S ar Finish at

ag Gran

e o search
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How many types there are for mapping cardinality of binary relatic
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Based on the above Employee table, HOW MANY

rows will result from the following SQL quer
select grade, max(age)

from employec

where age

group by

having max(
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~ select * from emp_sup as el natural right outer join emp_sup as e2;

Person Supervisor
null Susan
Bob Alice
Alice David
David Mary
Mary Susaﬁ
Person Supervisor
Bob Alice
Alice David
David Mary
Mary Susan
Person Supervisor
Susan null
l Person Supervisor

W




Select one

Seie




e:

¥

join emp_sup a

iR

rhis
i

i
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o
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o
N

L

what is t
p as el natural

table
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Based on the Two Tables, how many Null values the given query will produce?

Introauction to database systems

123 |

123

999
999

orders
| product | quantity | orderld |
‘l wheel | 100 |
| axle | 10 |
| axe | 20
nut S0 |
Select *

pricing

| product | price |

wheel
axle
axe
nut

from orders natural left outer join pricing;

Three Null Values

There will be No Null Values

One Null value

{®} Two Null Values

1ICUr oy Cho

10
20

2
3




My courses introduction to database systems | pes

General Database i‘?'.?;?.[.':"ff i€

One of the main disadvantages of bullding database systems is that they require more knc
skills, and time

True or False?

Select one:
® True

) Falsa
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Integrity Constraint

View
Transaction

Table

Clear n




Which of the following SQL Queries identifies instructars that have no dependents 2

select nome from instructor where dependent_id like Null
& Select nome from instructor where dependent_id is not Null
_ Select name from instructor where dependent id is Null
select nome from instructor where dependent_id = Null




fter normalizing the following table, which of the given option represents the relal Tirr
jormal Form ? -

\ ID | Name T| Major I Collage I Course_ID i Instructnr_FD| Instructor_
|, | Name |
| 1 | Omar | Biology | Science | 1001 9001 | John |
(2 1 Ali | Math | Science | 2001 9002 | Kareem !
3 | salem |cIs | KASIT | 3001, 8001, Ahmad,
Bl | | 3002 | 8002 | Kamal

&1 (ID, Name, Major, College)
(Course _ID, Instructor_ID, Instructor_Name)
(ID ,Course 1D)

(1D, Name, Major, College)
(Course 1D, Instructor_|ID, Instructor_Name)

(ID, Name, Major, College)
(Course |D, Instructor_ID, Instructor_Name)
(1D, Course |D)

(ID, Name, Major, College)
(Course 1D, Instructor_|D, Instructor Name)
(Course ID,ID)




Select one:

select proj_id, count

from project-natural

group by proj
select pro
from project
group by build
select proj_name, C ount(build_name
organization

from project natural join O
group by proj_name,
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After mapping the following ERD, then the suitable schema for table Vertebrates is

 AaD )

L weight

amountPerDay

1
) Animal }
n \

! Disjoint

N ISA




Ti

Student Mall
0 Name Address ShoplD SName
0123 Ahmad Amman 001 R&Z
0124 Issa Agaba L L
003 MMB

Based on the above tables, how may records will be generated after executing the folloy
statement:

Select * from Student, Mall;

3 records

[®] 6 records
9 records

5 records

Clear my choi
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Select one:

—

O Create view dept sal

from (select dep name: avg(salary)
from emp

group by dep name

having avg(sal) > 1300)

b vitesial
wiedle view Iepl sa
< | - b A v ;
2o oeieCl ai 1almle /1 Sala y
rnm emp
| l
|
. |
1Rl )
1] !
) 1T




Time loft 0:56:04 |
et un the Emp schema above, which SQL statement will creats a view to provide ™
n about departments whose average salaries is over than $1300
emp(Name varchar(20),

ID char(5) ,

Dep_name varchar(20),

Salary numeric(8.2));

Select one:

) Create view depl sal

from (select dep name, avglsalary)
from emp

group by dep name

having avg(sal) > 1300)

Create view depl sa

as select dep name, avgisalary
from emp

group by dep_name

having avg(sal) > 1300

ate new view depl sal







Supervisor

Susan

Alice

Cavid
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Based on the above table
select * from emp

-
- +
- -— +
»
— +
A\
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Al e AT Y
i Qavsdt Maiy

ol

L8

) OS @l

whiOt

nan

is the output of the following SO statement:

L

1l left outer join emp_sup as e2
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ﬁ Name Address

! 0123 Abmad el
o124 b Agaba

0133 Salarn Amman

Ml
ShopiD | SName
001 ARz
ooz xvz
003 MMB

) 3records
. O Brecords
N O Srecords
F # Brecords

WBlear my chicice

‘Based on the above tables, how may records will be generated after executing the following SQL
Select * from Student, Mall;






